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1. (10 points) Consider the points (-4, -5) and (-5, -8).
a. (4 points) What is the slope between the two points?
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b. (6 points) Write the equation ofthe line between the two points in point-slope form AND slope-
intercept form.
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- ?i:! -r 4)
- 3X-\-\L.

2. (14 points) Find the slopes of each equation in the given system and determine ifthe pair of
equations are parallel, perpendicular, or neither.

{

1
y=2--x (1)a. 2
2x + 4y = 12 (2)

{
3X-5Y=-1 (1)

b. 5x + 3y = 2 (2)
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3. (12 points) For {(x) = 15 - z]

a. (3 points) What is the domain of the function?

A\\ '\ecJ- nu.'O'\..~.Q(,.s . (-0CJ,M)

b. (9 points) Find {( 4),{( -8), and {(O)

{(L\) - \ s -l..\\ ~ \--
t(O)) -- \ s -0\ i: s

\ S - (-~)\ \ t? 1-g, r- \'3f(-C!t) ,....
- --

4. (12 points) Jolene bought a total of 56 stamps for $19.44. She bought a combination of $0.39

stamps and $0.24 cent stamps. Write the system of equations for the problem and solve the
system.
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5. (12 points) Solve the system by the elimination method. {
3x - 5y = 1
6x -10y = 4

-7. (3)( - S~ ~ I )
(p'( - \1J'j ."; L1

-~x + \\)'-3 -=- - 2.

~)( -\o~::.~

o ::: '2.

y Pt. \..-s"S \.

SI:>-;/

{
y = 9 - 6x

6. (12 points) Solve the system by either elimination or substitution method. -6x + 3y = 15
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7. (14 points) Consider the system of inequalities: {
X s 4y + 3

x+y>O

a. Find the x-intercept and v-intercept of each inequality.

b. Plot the inequalities and label the intercepts on a graph

c. Pick a test point for each inequality and show your work.

Use this space for your work and graphing. You may graph on a separate sheet of paper.
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{
2x -y = 4

8. (14 points) Consider the system of equations.
2x +3y = 12

a. Find the x-intercepts and v-intercepts of each equation.
b. Plot the line and label the intercepts on a graph.
c. Does the system have a solution, no solution or infinite solutions?

Use this space for your work and graphing. You may graph on a separate sheet of paper.

X -\(\-\- " Zx -:;:L\
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-'j ~1..\
~ ---'-1

Extra. Answer the following questions for the line y = 8.
a. (2 points) What is the slope of the line

b. (4 points) Write the equation of a line that is perpendicular to the equation. (Several answers.)

c. (4 points) Write the equation of a line that is parallel to the equation. (Several answers.)

~=-Lf
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